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$$ h(S1S2)=h(S1)+\sum_{i=1}"n (\Ifloor \frac {ai+b}c\rfloor+dy)=h(S1)+\sum_{i=1}"n (\Ifloor \frac
{ai+b}c\rfloor)+n\times dy=h(S1)+h(S2)+n\times dy $$
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$$ f(n)=\sum_{i=0}"n\Ifloor \frac {ai+b}c\rfloor\\ g(n)=\sum_{i=0}"~n (\Ifloor \frac
{ai+b}c\rfloor)”2\\ h(n)=\sum_{i=0}"n i\lfloor \frac {ai+b}c\rfloor $$
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$$ \begin{equation}\begin{split} F(S152)&=F(S1)+\sum_{i=1}"n (\Ifloor \frac
{ai+b}c\rfloor+dy)=F(S1)+F(S2)+n\times dy\\ G(5152)&=G(S1)+\sum_{i=1}"n (\Ifloor \frac
{ai+b}c\rfloor+dy)”~2 \\ &=G(S1)+\sum_{i=1}"n (\Ifloor \frac {ai+b}c\rfloor)”~2+ 2dy\sum_{i=1}"n
\Ifloor \frac {ai+b}c\rfloor+dy+\sum _{i=1}"n (dy)”2\\ &=G(S1)+G(S2)+2dyF(S2)+n\times (dy)”™2\\
H(S1S2)&=H(S1)+\sum {i=1}"n (i+dx)(\Ifloor \frac {ai+b}c\rfloor+dy) \\ &=H(S1)+\sum {i=1}"n
\left(i(\Ifloor \frac {ai+b}c\rfloor)+i\times dy+dx(\Ifloor \frac {ai+b}c\rfloor)+dxdy\right)\\
&=H(S1)+H(S2)+\frac {n(n+1)}2dy+dxF(S1)+n\times dxdy \end{split}\end{equation} $$
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const int mod= ;
struct Node
LL cntr,cntu,f,qg,h;
Node operator * (const Node &b)const
Node c;
LL n=b.cntr,dx=cntr,dy=cntu;
c.cntr=(cntr+b.cntr)%mod;
.cntu=(cntu+b.cntu)%mod;
.f=(f+b.f+dy*n)%smod;
.g=(g+b.g+dy*b. f*2+dy*dy%smod*n)%mod;

0O o0 o0 0

c;

Node quick pow(Node n,int k
Node ans=Node{0,0,0,0,07};
k
k&1 )ans=ans*n;
n=n*n;
k>>=1;

ans;

Node asgcd(int a,int b,int c,int n,Node su,Node sr
a>=C
asgcd(a%sc,b,c,n,su,quick pow(su,a/c)*sr
int m=(1lLL*a*n+b)/c;
'm
quick pow(sr,n);

quick pow(sr,(c-b-1)/a)*su*asgcdic, (c-
b-1)%a,a,m-1,sr,su)*quick pow(sr,n-(1lLL*c*m-b-1)/a

Node cal(int a,int b,int c,int n
Node su=Node{0,1,0,0,0},sr=Node{1,0,0,0,0};
quick pow(su,b/c)*asgcd(a,b%c,c,n,su,sr

int main

int T=read int();
T--
int n=read int(),a=read int(),b=read int
Node ans=cal(a,b,c,n);
ans.f=(ans.f+b/c)%mod;
ans.g=(ans.g+1LL*(b/c)*(b/c) ) %mod;
space(ans.f);spacelans.g);enter(ans.h);

.h=(h+b.h+n*(n+1)/2%mod*dy+dx*b. f+dx*dy%smod*n)%mod;

,C=read int

.
’
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